EARAROBREBRT —5 XN—ZXBISH—F 2023598288 () 12@PI5I6H

W3 FCA4—3 C4 HSH—B \&wm\@mm ~ | 5 100 7am
[AE%E]) 1 &:400,000F ~ 2%&:112,000H  37%&:84,00MH  43%&:5,000H ~ 53&:28,000H
B RS RS R 1 BF (F8) g4 (BE) | BBIEGI | E3F |SIEH | AR | AE | BN i) / BE / £EWNS
— - ERE_ :15. - . - BHIEE (s
118l za—7r=— B3 o 1(1_5)8 4-1 39.3 4 (455 %/A\Eﬁi iE
Ri/RIvwvy B:O0-TF«7rIz N E%u5
Sy e =P alllE :15. = . - BT (UsE)
527957 w3 gy A EL I R A
R:RLTFY BADYRFVE— ML R
S — FalE—BA :15. - . - HEigIEsh (biEid)
H—RA—w IR 4t 3 e 1(71?:? 1-1 39.5 6 ?3(3 HELL &
R:FAAITU—rFvv N B:TF4T7=Z—I1h KIFERRUS
\°. =~ N . _ — =} = ; A
TSNS i3 E’ﬁﬁam 1.(167).2 5-5 40.3 9 | 412 gﬁgg (6[a:))
R:O0—RAFO7 BRNLT1F—L (-4) TATAT7—LA
o v 3 | BHEE 1:17.3 5-5 40.5| - 7 454 | EAEME (LEE)
~OEO 56.0 /2) (g | WEITE
R:NT BIUEIRYS g e
~ ~ 4 3 | BEXKX 1:17.5 1-4 a1l - 3 490 | BEET dtiEE)
6|5|5| "Y~YEY 54.0 3/4) @) ) =y S UR—ILF 1 VTR
RiO—RAprO7 #B:Zv72 BRI 7—L
= =EREE 7. - . - N _EIEFD (dbE58)
715] 6| 752 MU—L H 3 A 1(71{:)5 12-11 | 38.5 10 (53:1) H -¢<5:|1$—x
R:iSTU—FoA B:YISVFY BEZT v b
— R — ft 3 | BHFE 1:17.5 7-7 4.1 - 8 546 | WOE— (dLidE)
81710/ /\—hE—b 54.0 7<) (g |BREE=E
RE—UR B:OU—Tx—RU— BREMT SHI7—LA
________ RERESE 17. - . - 21IFAI (biEiE)
9 VA 3 54.0 1(31/74)7 8 o1 ° (4_148) §§MUE n
R:IvIFIWRry s B:STIUE—Y YA T7—L4
— P BREE :18. - . = AllEE Jdussg)
00111 F1=2u7 4 3 i 1(14%5 7-9 40.9 2 (4_760) ey i
RiF4RIJU—brFvv b B:OYVFVT HET7—L
=~ v 6 | BEZY 1:18.7 11-12 40.2| - n 510 | BAEE (JbisE)
181 77EY 5.0 M g | PIRUEER
R:I5774— B:RVFaA—-I i 1T
y IR :18. - . - MEXE (JbEE)
12171 9 AUBIL—2 4 3 2 1 (118) 9 10-10 40.7 12 (4+222) oy
RiLAVR=54Y B:EYFvTH—IL HREtt 7IU—bT7—L

@ 11— —&@BIE(I

13—7F—
23—F—
39— | (3.5.7.12,4,8),(1,10,2,9,11,6
43—F— | (3.7.12).5.(4.8),10,2,1,9.6,11
@ IhRE
& 12 640/ | [D B 7-12 400/ | [ # i 6-8 690/ | | 38 | 3-7-12 3,430
B 12 160/ 3-12 1,30 | | 55 5= 7-12 850/ | | 3@ | 1273 27,120/
7 140/ 3-7 880F3 | | 55 & 12-7 2,730
3 4207

ABIC OV TRUTEREERRODDZE. THRIIZEL.




